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1. Which of the following components is usually not found on a motherboard?(A) System Clock (B)
RAM (C) CPU (D)Power Supply (E) Extension Slots
2. Which of the following is not hardware facility?(A) Virtua Memory (B) Cache Memory (C) Read
Only Memory (D) Random Access Memory (E) Hard Disk
3. Bitsare configured according to an encoding system, such as(A) FORTRAN (B) COBOL (C) BASIC
(D)ASCII (E) C
4. Which of the following is the time it takes the read/write head to position itself over the proper
track?(A) Rotational Delay(B) Data Transfer Time (C) Seek Time (D) Latency Time
5. Which of the following iswrong?(A) A mouse usually connects to a serial port (B)A PC usually
provides three serial ports (C) A modem usualy connects to a serial port (D) A printer usualy
connectsto a parallel port (E) A PS2 mouse does not need serial port
6. A Collection of related fields of a dataitem is called(A) Field Group (B) Structure (C) Database (D)
File (E) Record
7. Which of the following is not the database type of DBMS?(A) Hierarchical (B) Network (C)
Relational (D) Tree
8. The execution of two or more programs by one user concurrently on the same computer with one
central processor is called:(A) Multiprogramming (B) Multithread (C) Time-Sharing (D) Multitasking
(E) Multiprocessing
9. Which type of LAN topology is adopted for Ethernet protocol.(A) Route (B) Ring (C) Bus (D)
Repeater (E) Star
10. Which of the following coverts name address to |P address?(A) Proxy (B) DNS (C) Mail Server (d)
Gateway
11. Which of the following is lossy compression?(A)ZIP/PKZIP (B)GIF (C) tar (D)MPEF (E)RAR
12. Which of the following languagesis less used in commercial applications than the other?(A) Cobol (B)
C (C) C++ (D) ADA (E) LISP
13. Which of the following variable scope is smallest in the programming languages than the other?(A)
Local Variable (B)Nonlocal Variable (C) Global Variable (E)Common Variable
14. Which of the following languages usesinterpreter?(A) C (B) COBOL (C) FORTRAN (D) JAVA
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